et S S b »,,/_,,Q

MORE PRACTICE - Applications 2 } AN %V@ ;? < {f

ok

TS

1. Oneﬁuniréd ollarsis invested in a savmgs account that earns{:jmterest annua!\\; How long until
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2. You want to mvest §500 n the bank. The bank offers an account W|th an mtere rate oﬁ 1. 53025‘7-* L.olC3
compounded{guarterly. rs?)
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3. You mvestEl Spn a CD. The interest rate iS{4%,\and the interest is compounded\ onm \ How
long until your CD is worthIZOO? 007/ Sovoy
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5. The population of a city is 10000. The population is increasing by 5% per year.

How many people will live in this city in 10 years?
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b. Solve using the model: P = Ie*t = | 00O @kﬁ
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